
Math Numbers and Operations 5_3

Student Name:________________________________ Date:____________________

1. 

 0.80
+ 1.05

A. 0.85

B. 8.15

C. 1.85

  

2. 

 $3.15
- $2.04

A. $1.11

B. $1.19

C. $2.19

3. 

Tim has $4.10. 

He loses $1.00. 

About how much does he have now?

A. $4.00

B. $5.00

C. $3.00

4. 

Joe is 58 1
8  in. tall.

He grows 2 in.

About how tall is he now?

A. 65 in.

B. 72 in.

C. 60 in.



5. 

1
2  + 3

5  =

A. 1
5  + 3

5

B. 1
2  + 1

2

C. 5
10  + 6

10

  

6. 

8.24 + 3.4 is about 

A. 12

B. 15

C. 14

7. 

6
7  − 2

7  = 

A. 8
7

B. 4
7

C. 4
14

8. 

Which are equal?

A. 5
6  & 3

6

B. 1
2  & 5

6

C. 1
2  & 3

6



9. 

1.2 + 3.5 is about 

A. 7

B. 5

C. 4

  

10. 

Bill has 3.7 pounds of bananas and 2.1
pounds of apples. 

About how much fruit does he have in
all?

A. 6 pounds

B. 4 pounds

C. 7 pounds

11. 

Cara sews pants. 

She needs 3 1
4  yds. of fabric for one

pair. 

How much fabric does she need for 2
pair?

A. 6 1
2  yds.

B. 6 yds.

C. 6 2
8  yds.

12. 

Estimate:

1 + 1 3
4  = 

A. 2

B. 3

C. 1



13. 

Step 1:

2
6  + 2

12

What is the next step?

A. 1
3  + 4

24

B. 2
6  + 1

6

C. 4
12  + 1

6

  

14. 

4
5  + 1

10  =

A. 8
10  + 1

10

B. 8
10  + 4

10

C. 4
10  + 1

10

15. 

4 1
3  = 

A. 8
3  + 1

3

B. 8
4  + 1

3

C. 12
3  + 1

3

16. 

0.09 − 0.03 = 

A. 0.06

B. 0.006

C. 0.60
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